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Instructor: Dr.R.A.G. Seely Test 1

(Feb 2019) (Version B)

Cal I (S) (Maths 201-NYA)

Answers
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3. (a) 5sin(a®) + 5z cos(z?) - 3x? + 3sec?(3z* + 1) - sec(3z* + 1) tan(3z* + 1) - 1223
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(¢) (z+ sinz)?+! (6x2 In(x +sinx) + (22° + 1)W>
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(e) 3 csc?(In(522 — e +1)) - (— csc(In(5z® — e” +1)) cot(In(5z? — e” +1))) : 5352;iexe_|_1
4. (a) ¢ = %, so slope= —2/9. Equatlon Yy = —fm + Q
(b) ¢ = (MH)Q, so slope = 1/9. Equation: y = gz + 2
5. (a) x==+1
(b) ¥ = 627 3(x — 5) + 92%° = 0 if 150 = 30, so x = 2

6. ¢'(25) = f(5) + 2LB) =34 50 =53

Remark (for Q5a): The graph of y = 92%/3(2 — 5) looks like this:




